T EREEH 2010 quTieh: 00
Qus: | GUSAH Uy SEvEq PEEL GO AFHHd SHRTTTT:
®) | afuea-sEeErey| | LERCIBLN L TG, -
i) SAfdere: Vo x 4=2 2
i) oTER: 1x1=1 1
iii) TfeTsER: Vo x 4=2 2
2 | af s
i) eAfderea: Ve x 4=2 2
i) TR 2 x2=4 4
RULEEIEE iii) atfereTr: Ve x 4=2 2
NILERKEEH iv) TR 1x2=2 2 15
g) | WEEGIE T | 3 LERSICEL: IREECIE % x 10=5 5
4 SEIECICRD IEERCIRECR Y2 x 10=5 5
5 IGESCRELY IECECIRCR 2x5=10 10
3rera
EIRCEEICEE IREECIE 2x5=10 20
) IFTYIHSATRIUT| 6 RICRIRE AfeTe: 1x3=3 3
7 qag/fausetom | SAfderem: 1x 4=4 4
3 EEabERRInE TR 1x5=5 5
9 SHATANT: T 1x5=5 5
10 reaRadTT TR 1x3=3 3
11 qEI-dY T 1x4=4 4
12 | e T Yo x 4=2 2
13 | SIS T 1x4=4 4 30
w) | ufsq-st@aremw | 14 | TEIN-TEI i) etfaerem: 2x3=6
BERINGR2CICH i) R 1x3=3 15 | 15
ATfeReh T i) sTfaeTsmT: 2x3=6
15 arenefaiy: T (1x3)x2=6
16 ST NEWS (Vo x 3) x 2=3
17 | WEACEORRE- | 1x4=4
T
18 | ETRAEAST IEERCI:E Vo x 8=4
19 | reRreEy: AfeTeR: 1x 3=3 3 35

183




iy gREEY
Time allowed : 3 hours

Freifta v ¢ 3 woe
Gug ‘' ;UG- STeEIETH/ A SAIY SeEIE

Section A: Unseen Reading Comprehension

Que ‘@' ; TAHS -/ TS hd
Section B : Writing Skills

gue ‘7’ . ATTGFA—ATh LOTH/TTIY K SATh {01
Section C : Applied Grammar

@ue ‘g’ ; gfed- ey /afed- SAaayT
Section D : Reading Comprehension
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qUIgT: Roo

Maximum Marks: 100
3Mferehaw 3feh Qo0

15 AI:

20 AT

30 AKT:

35 AT



Instructions:

L.

AN 9e9s =@ @oel: 9=l
T Y9 ¥ =R @S 2
The question paper has four sections.

Jich @USH 3TTHEHe ST TehieHq T SHHT @]
Jdeh W@US o ST Ueh Bl SE W ohH ¥ foes il
The answers to each section must be written at one place.

iTEUeH ST Gerep YT STl @]

U @UE o IW YU & T Sy | & faed T

The answers have to be written in a separate answer sheet.

U9TS SAUMT 7 G|

g9 W S 7 fo|
Don’t write answers in the question paper.

TITHEA ARTHAITHRA SerprCRctenipil

q99S o6 FATIR GITHEAT AT g1 faat g
Please write the question no. according to the question paper.

A AT I HEhoA T@ |

[t I9l o S| G&hd § fafau)
Answer all the questions in Sanskrit.
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@ug : <h Section A 15 srgm

AUfSAIIT-ATqaTeq Y ( AUfGATIT-TTETE )
Unseen Reading Comprehension
A o
1. | AuifafEd-3TI=s<gd diocal YU Jeeh-Yexa STy E STid -

Fefafad I sTIeeal &l 9@ XU T 9=l oF 3T gUeF af T8 Iagiadehl |
faf@w -

Read the following two passages and answer the questions in the given answer
sheet.

ERLE 31':1,@7‘(:

T A STHIG FASE e A F: 7 had dg e fug fovas ufag: wfa: sva
rd{rtld'i“i\ldloqrcd" ‘:rﬁl AL RIE GRS m‘l T W%rdm@‘ﬂ%'w % T hfoRW:

3 Wi @ Hergeuisy fovaardtrdes |o|%o||o|a|cf|q{ 3qu STLATII| TS LION
TR0 SR IRAYfH: a&qd: =1 d|

QR

THIRA 3TA Lox2

T 3 § s gifse
Answer in one word only.

(i) HfaET=: & IR Hid:?
(i) ‘TTrarestter:’ o forfaan?

quieTeR 3T 1x2

Tof areR H I Y

Answer in complete sentence.

(i) T TEIA: T TH?

(ii) fawet=: foraef TR qraar?

TRy 3Ta Yox4
e & 3gER S fod

Do as directed

(i) ‘arer’ sfa foRamTaR® wqueH sTIeear fawen foaea
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A LA 3k
(ii) ‘wfoaezs: Afaufas:’ o= fovmomg foq?
(i) sTufag: ' =fd uee fauqdianeiss usy e1g=ssq o foawal
(iv) ' Tenfuder s Sg=es & 9% ygwa?

2 | fgdr: s 10
SEAAY ST T A1aIEH e 9iehedd| fere sty dreren: .
SR g AfIfored Fg A, T3 T THAFH Foeed TRH, SR & STEU
sgafd, ‘sifafacel wa' sfa wRdFTU g qrerf<al A wehrEae fd
foretftardn: syaf=q, oy =iq T dul SAfeRTieRT AEma=t g foshia ¥: & seiaq
AT 7R | TehaR ST, T8 giase af qur sierf e = 9 S %= arfal
IO STAROEHH q Toreied: Tared ool gSeiaf-<a a9 raen: geed: Ay waf-al
T THY S A1 Hecl AIEeaal el ST e TRoid 2q Qe
geleATd: SR |
QAT

| THUST ST Yoxd |2
T I H IW fafEn
Answer in one word only.

(i) =t>or: =k gfd feretfad: waf<?

(ii) =TeThT: AMAS: STRBU K HRAT?
(i) T SR ?

(iv) AT STEaOTHY ToeT: &1 Jeeaf-a?

I | YuiaeRs SO 2x2 |4
qui e | 3w fafes
Answer in a complete sentence.

(i) SHIMY =eiehl: fh F=ep qRueEf<?
(ii) =TeThT 7T foh ada?
| FHEymTERy Swa Yox4 |2

9 o AR SW| T

Do as directed

(i) ‘weeeEesy 3 uge gumeid ugq eser foamn foredl
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A RS
(ii) ‘forftarr: swaf=<1’ s et sfa foramueea wgusq st=ssr o foedl
(i) warerdtt ey o731 fawivorag fohm?
(iv) ' STRIETEHA’ 3fd e fauqdiaieleh usq sT=ean fawn faedl
IV | T A= hd Fqfad vfteh forad|

39 =% ! 9f=q vfte fafau)

Write a suitable title for this passage.
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yre: 9

Section B 20 Agl:

TS SR

THATHS e
Writing Skill
H oo
3. | W Wute:| Wi a9 ueuiata: 9 gReden featag faftad o

TSl UEUS: I 15x10
T yore B 79 s S ) qg-ufer o @1er oY Seer 2 WAl i g fafEq
T i Hosol | U T 9= oF "emw 9 ol

You are Pranav. Fill in the blanks with the help of given words for this letter, written to
your friend Vasant requesting him not to indulge in cruelty towards birds and animals.

10/28 SEYTFRA
O
A e
L5521t (1) OO
&gy TH |
o Teafad I=m SerHe T8 I T (i), SISTH 3Tl TH: I o
STftehehIeT-THNE SFETARTEaE T (iv).....oocvcevee G| HH Blfach aeio ey
TR HHHE 7Y Teh e Teafid aq i : Rone atehsa: (V). Strafy
FR: g 9 gdcA:| & foara foe adq: uypafef: @ oToRe: d:? T g G
1221 P (V) TR | T T, TIehs TR, YR (Vii).ovoveveeceee.
HUIAHT IS, GO HARIRO fae= & 74 7 AA=Afd| Ik |6 T wrfﬂ“aﬁur
g Taw ¢ SRt fE T G (Vi) AT Afasaf=<q| o7d: Ho=n 7y
e st=aen 7 e Si1fiq i fom femafodeay) T8 we: aumray s
(I (%4 IR |
0 U

qyafes:, S, TR, TSELYRST:, TR0, JoTdl:, Hel, TN, I8,
SETAH |
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FHATETH
WA GEERTAT STl TRl Qe IIfur Syfaena foraar 14x10

ool H XU 7T 91ea] bl Tl € = & TS ARAT Bl TR SIYRKHRT H ha
IW foe

Fillin the blanks in the following story and write the answers only in the answer sheet
with the help of given words.

THTT SATHTITATON M@ I Foaauifor Araq asf 4 wfasafal =g
0 Y. foraferan: S | o o BTl g, ST T S (i) e
WEIT: T : Feh: T HeRIH T Ueh: heh: TeT T afed shfterrd shifa =)
S (11) IO Fe< geedl W foemdd Iuern wrhedd-qE! o @
(7). T gl T]1 aW T T AT (V). =q aa1 fermef gen
9" | FaaH: Fue: sEsd - q@l AfE, 7 srerrervaniiEd:; s g w3
TaRe forad g TSEEmon (Vi)..ooovveee Gtel: | ohre < 7 Rty qfe stergaan
foregfaaem=a (vii).......ccocoveennee. q FRIH Tarene: qfasH a8 FEgEEr: 3
(VL11) 7 hfvag Y Aiawfd Tehd| HYRE T A FAA (1X).overeoreeeeenenn.

SIfeTaq T < Teaany auul fagaq e, ? 3fa fo=amd @1 defora Sy
3TN 3T : FAHT I Aq AT FIRHUM (X).ooovovrececeren. w@fafa: e

il

sh1et:, Tarmaforean, Hermmet, wfos, wdl, aui:, uehl:, STRIET, h1afe, qoaesiio|

Y A T ST Hos[Ul YEANEREadl Toaered Sty fo@d  2x5
I feg T o W uIRa 919 9o YS9 YRl Sl WeTdl ¥ Heehd 9 H fafay)

Describe the following picture in five sanskrit sentences with the help of words given
in the box: [0

10
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0. S| 3k
AT
TTSIH, TAIUG:, hiUSHH, SHI:, forehar:, shionf<i, Shdl:, Hed g=sf<, SHEHR:,
TR, TMeh- AU 39|
SE
‘TR - i 3fa faay stfusher Gead TemareRt foed | derEdr
TSl 3l 2x5 (10

‘TR SO i 39 fave R Ged o Ui o Tt werar o fau geam

& T B

Write five sentences in Sanskrit on * 2Ieh— A0 Elﬂﬁ{’ you can take help from the
words given in the box.

AT
fafaen: emepl: - TAUg:, MIHRH, FHecad, T9Ue:, &dfd, wifusy, g=rh:

~ N
oS TR : ShaR, faehaR:, SHMM HHR:, Hidead, 3=d: Tgdi<, dfgel
qiH:, SaEad: A=l
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@us : ‘7' Section C 30 37gT:

STIII A SATR T

CEERESICIETY

Applied Grammar

TH. sl

6. | oTifafady ameRy Erferd TeMl wfiafufa=ss e 3 e faaa 1x3
= foe arel ® @ifea 181 | af/atufasss ek o 1 fad
Join/Disjoin sandhi's in the underlined words and rewrite the sentence.
(i) o + A TemE: fasEn: fa=rf=
(ii) STgercmn A qq + e afsad: 7 |
(i) 79 AR FFHET S ST |

7. | swifafedy areRy @i dusHl fouE / THE o Sl SWyRasEl faad 1x4
= fo@ sl W@ifhaual H foue/ame wieh Swgfast ° fad
Join/Disjoin compounds in underlined typed words in the following sentences and
rewrite them
() Zomafe wr Fe
(ii) FIRR: =k AT FHeAd|
(i) 9: T 3T GHRR S gHiIs |
(iv) faf=rt: Te1: 7 |

8. | smifciady Ry ISRl JaH Fehfauerd fave/Asiaen g: fored 1x5

= fera T3 TR | hiteeh oh STId US| 1 Y aucHd faATSH/Aan i IH: fare

Rewrite the following words by adding/disjoining suffixes to the roots/words given in
the bracket.

(i) 9: A (femm:) g9 wafdl

(ii) ohYCTIRS! 3Teh1M (SfagrE+3eh) T |l
(ili) (T o) ik ot Sf?

(iv) T (I+E) W 7 IR

(v) (i) fe T wepfa:|
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LLs]

10.

11.

reifataay arey sfea-seraud: Raaeamtt wiaer 1 foea 15
(ST = 314 Y_)

Frefafaa s § 3faa oo 9= o Reaeem &t gfd s g1: fafag
(37l T gt = @ T ?)

Rewrite the following sentences after filling in the blanks with suitable indeclinables.

(List of words is given below)

teiferfad Hare arergar RereartT graa 1x3

SHIfafad HaR | areargar Reaeem gfd wifse

Fillin the blanks in the following dialogue and write the answers in the answersheet only:

. 1155 R () P BRI

wfa

NI LIRS [ e T N (1) TR ?
LIECK LS S G B RIES

NIE] qd: di: for witsaf<?

wfa

A feraEwaT qEd 1x4
feoell W UM S drell e THRIUE e, HEl Teadl §, GHIEnion & FEn fad

Indicate the time as shown in the following schedule in sanskrit words in the
answersheet.
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TH. sl

(i) AT THUE U (6.15) ARA fSeeia: SR gfd Tesidl
(i) 9rd: (7.30) SRR WA
(i) ma: (10.00) TaTferR i T wafdl
(iv) (11.45) aRA AR I |

12.| erwhfafaatt aref (gl N ) WepauEfagmen: wier g foma vax4
SIfafad ol &l ST o WM W qepaueaEsd Rl g’ 90 &k A
fafee
Write numerical Sanskrit adjectives in place of figures in the following sentences.
YId: il YHUME 378 SIfeh] T=aIH| 5 (4) U Gl STwagan (6) Ja&i:
qen 9 (11) fregen: v = foaema: (1) faod: wmad)

13.| g fEr: A aEie wved ST9Gd: VS| arEl GYIeM el e

q7: foaa - 1x4
T st & Ao & $o 1gfedl 8 T #) 5% " S 9 qA: fafan

Correct the following sentences and re-write them in the answer sheet.

e foerer THR-gRy wedl: ned fopcheufaaifitar wiosafal fe @ 3w

TEU: I, 3T STEH A a1 UfAIRTa 9w
JEU: T EERETUl Aeh gAdl: 3TE|

TEU:  ITHUT) WKISY hHEA: ShiSehl: IAEHM: o A
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Qug : ¥ (Section D) 35 3Tgl:

ufsd e (Ufsd rEarer )
Reading Comprehension
0. LIS 3ieh
14.| renferfad RN, weny, WAyt = ufSEr EmmeE ST Swyfdentat
foraa
frfafaa Tene, w=re den e H Yew o T us oh S STyl H
fafen

Read the following prose, poetry and drama passages and answer the given ques-
tions in the answer sheet.

(31)| T T=q AFSd Tl HalGdl: hHUd: Yo Iag - ‘ol foRfhey 3=ud? 9 o
LGN foaer@ st &R-faed-huE-she-Sahen eifaemd:|’ Tdogel
HIgAa! Jerafd: WEEH IHIE - AR JIH 37 @& FuRums 7 SRiC]
e g o+ Tesial’

1Y SRS 318l 9 Hel Are wed fomifa drerd el stesaferdentse difed:|
SRR AY: dfEd eaeadHIRR: Fahetemy swwaenen gfavifa easTar o JqH
il o fardt Tefad: qouiy afesaren: aferd:|

9o
| TR 3Tl 15x2 |1

T&h I H W 9T
Answer in one word.

| GURRU HY: ohq difed:?

I. S IS ITHRTH IR a4 T 1 gesf< &7?
I | YuiaeRd STl 1x2 |2
o 9 § IW A

Answer in a complete sentence.

| TS RIS A qre=i?

I. oIy afgearen: we FHfce:?

N | FenfEyE Swal Vox4 |2
TR 3T <

Answer as directed.
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(i) g STeoeaHM: IR: set foroomg fhm?
(i) ‘s’ sfa v o gafaes e gge?
(iii))  gfererfa’ sfa foramase wqus Tenenq faen foedl

(iv) ' ¥e" e’ T Ueed faadiaredsry etg=aeq fomn faeal

(3m)| U=rIT:

STFIZEaM ol AT |

G A FeRror T aRgEd|
PEEIH

| Tehued STl 15X2
T& U H I dfem)

Answer in one word.

(i) H= G RIS QG2

(ii) e 7=l o T uRgEd?

I quiaTeRM 3TAl 2x1
qufareRr ¥ IW I

Answer in a complete sentence.

FHIG: AT W T IRYIA?

N | =grdIm STl Yoxd)
TR 3T 3|

Answer as directed.

(i) ‘fopa: wafa’ sl vaes fh 18 ggeaq?
(ii) TR 3fa uee faudnedsh fmq?

(iii)* SRfa w=’ S weAr: faves fRg?
(iv) R: 7 TR e frams fq?

(3)| ez
EECRIBET Tl femfsaemge™: Qe Taea gfi: 390 o1: SRuTa:| IfaT
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LLs]

Y oA o Yesf| fayen =@ o oaErs aHmedr g
3@ Ea: Tl g wgig: gt =@ ARl gad i
[SIATER0N o 3T YS9 ohadl Yahfd: Td A fafaen #4eq =
Yogd HERfd: M|

SE| LG L AU

G : T WIS 12

T RRI S T8 TReE TSiEM] |

T HRISA | SIS Shit T SAS{iereh — | ?

R Hft: el g =9 T Fq@ sTshfaermamet|

a: A 3T YRUE JHEl: 3T oh?

AT 1Y JH| 3T 3ok JH@icTa:| ‘are=l’ S 99@ ad ¢ it
sfa 1) waq g w5t w A | S stae sy fhgse
[T = wmifsen w1 fohad |

qIT:

Tehuad SUA| 1ox2

T B TR H IW fag

Answer in one word only.

(i) ‘s’ =fq vd wa qJ=d?

(ii) HfT: RrcUshen aEmg =9 o Y@ SASifashremA?

uieTeR 3| 1x2

qui 9 | IW fad
Answer the following in complete sentence.

(i) ‘e’ SHSH ggEgetn fo foe vafa?

(ii) YSTAEOH Jaaed u=as foh foh ahea?

Trdomany sl Yoxd

k91 o 78R S| fad

Do as directed.

() ‘EiEEyfa: s’ o ‘T s U e Tge?
(ii) * srartSIeR e’ 3fd uew faudidreies o] Hererq focn feredl

197




R

LLs]

15.

16.

(iii) forgen sErRT’ ol veAl: fovreg fohy?

(iv) ' geref1’ fd foramaeea hqgus Hamq fawen foeml

refeafEauerge werey Sugeaus: qiaer u=: foma 3+3
frAfafaa < o= o aErel o1 SUgEd WISl ° Wl 9 fafau

Complete the explanations of the following two stanzas and re-write them in the
answer sheet:

HE 99 GIfoETeT:? Ttygsfyon fara

Fo TATHH? <A U TRGEAHGH ||

wrare;

T FATIAH (i)...oovoeo <ifed Td Wifor: 751 e aefieg s df<l o7 Td:
g fagaan sIaer: #den:| ade wH-ondl ifamd T (i), ot we

AT H/H T (jii).ocvcvrreen. JASITAT SYIHM: Holq A ol

e foemes =g A §oed q9: |

e TEH g@ AT &EH g |

oraet:

S FER e @ & 95 39 2| o e ShigaanH| ofd: 9 9HH
[0 JT. 7 7| ARy STl : T (i) FRUM TR N
AT FH (i) v TR A A

areifefaduagae et g qq: foea 1%6+1%%

frefafed <1 wel o el sl QU ek 44 fafaw
Complete and re-write the prose order renderings of the following two stanzas:

T o WA ueh qagHayNTan)
oTSTT: wtafa fasr! gemdg sty d

fas = ()i, ERRRRIBCCE LR | Sk U (1) I d Tferay
(1) Y CRSCE G

31 oh JPFAIST q9 =RAA Ie:
fTe—=Ia ooty sartee f=fsa: 1
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17.

18.

19.

3

EletE R i 1 () F ST e PN (7) FUR 211 (1) T Franfem:
g 9IqH_ =]

Wr@auzrﬁaﬁmmﬁﬁmw 1x4
{@fgd U=l o YR T YEAMH HifSTT

Frame questions based on the underlined words

(i) Th: IH TR

(ii) 5oh: I A=A HUfa

(iili) TRATHIEMT A1 F8AHE ;. grgi|

(iv) IFOMT & O &

TEATGHATTARY STeifef@qanaan q9: SFHuT foaa 15%8
TeATShH o ITIER f=fafed aet &l g49: e § fafag

Re-write the following sentences in the sequential order.

()  T=S-UNIE HATHENN 4ol gRdls: 7 Td T e aferaaTy et

(i)  TEHNT: WA SufEe: W: shed fowE weataq Huehe &5 HivmE yRe
ToSdl e Hfeh: Houd:|

~

(i) foorRegE: T=urg: gRgfeT 98 SEwti dord: Sa:)

(v)  afadrq e FTERAHINERIN Tee—1ara T dfdar 9f-d: giva frie
= (B B

V) e SHIfAdEe]: TesArE: T8 YAaar SRdiGYd Uhih! Td daef
giEerd: |

(Vi) T Al gl §Rdfg: Afeld T STeUHe Yavihayl Waar

(Vi) Thal TarTaEnTe <ee Tesd At Tk deteh T

(viii) gaoirere! ¥4 geean s aRMH 3989 SRdfS: ol Tes-19ras e farear|

JHEIER (@I Eehdus™t JgH 31 fomar faeq 1x3
G o ATER @ifehd T1 oh g AY IR fafay

Write the meanings of the underlined words suitable to the context.

3Tl Hrafgdfa

199




R

(i) T, (ii) SO, (iii) e,

F AW Attty

(i) stferenror ferafa (i) stfererea ferafa (jii) faeemaify
Hehed g faferar: om)

(i) eTe=r=tRar: (i) foereor fagaamn: (i) foemtar:
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HeEl I
3@ty : BREEH

R ERHAYLTI |

SRS
fooa : Hehay (FHIomEIRa)
HEAE 122
T Ue : & - 3qfed AT

A @ve 3T =egaq A (5+10)
F |- TUH ;AR 50 RIRfEA: (5)

ToIET: 100

TS : 3T JII-ThR: sTdfara-3aafo FgHSA:  STR[AYM:
LK RS 3t
|| qeFety- ST : () TR 12
eIy THIRA 3T (i) feRd=o 12
|
|| demEy- SERLS (i)  FeTIEoT
TRy PUEIEVE! SR ARAYH:
I A ¥ @l |
(i) ‘Tiaresiter:’ gfa
HfaaEgIeS Fd
it Aee-
&R Tl |
(1 oTg: SIS
THAUE o1 oTg
ERIELRRIET) 2
| wifera- () hgusEI . (i) ShfoRW: 12
Tterur (i) foemoEEER () SIfaufEey 172
(iii) foradiareieras- (i) ufas: 1/2
EREEt
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LK PEE) 3t
(iv) AR IR - (iv) TR 1/2
CRE 2
2 | feda: eI7=8%: 80-100 IeEURMHA: 10
TS : SEvIH T-Th: sufara-sTftT STgHgd: HARIIMT:
| | deEE- FAfTe: O SEIRIEN 1/2
e THIRA 3T (i) srfafereq 1/2
e
CER
(iii) e 1/2
(iv) ¥freram 1/2
2
| | deFE- foregara. (i) SGIY =Tclehl:
e quiaTeRA ‘gafafer: <& wa' gfa
ARATHI FR=Ieh 2
RO
(i) THATE SIS
RIS S
q S AT
G ARl 7Y
ERE 2
(TEieh-37g ;. deqdigoT
3 g = YEedihd) 4
| wifep-a=- () wEEYRTEEsEH (i) AeAued 1/2
e (i) HJIETITY (i) =T 12
(i) forRTEUTIE=RAY (i) wAmEdH 12
(v) foodaefrue=a™ (V)  STEuEE 1/2
2
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((DREERIRSIERIEG]
g IR
AT 3T
femfa wofad
NIEET:

A sl 3k
IV | Sfderusem stfdersR: () HARTE THIMIH,
Ao OEELEEISETE!
Adel:

10
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@Ug : ‘W' - OETHGEET]

I HERATTTUH |

5+5+10=20

SR @S 9: e |l 9o ge fafad o3 gesurd: feen fafa=ieaeemm 9fd foen 9o 44

SRRt et | FfagsRedearyfied o1 a1g: fuifa:)

G : LR LRSS ERIEREERNL AZEGd: AWM
TH. LA 3k
3., | TEerER () FT= (i)  STEITFIRST: 12
et LB
ARt Lty fererd
i) Fuaw (i) TEd 1/2
fererd o=
Rk
(ix) @A (i) 1= 12
T :
0 TEEE (V) T 12
Rk
EERICR (iii-viii) T=WigEd (i) e 12
forsrereqeRi- forsreRg=. (iv)  TeHEee, 12
Tterur (v) IaiErs: 172
(vi) TIEE 12
(vii) eSO 1/2
(viii) STRTATETHY 12
5
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A LLal 3ich
4. gy JagTIaR  erearyfd: sfaan ufa geRedwergfded o1 oiw:
fuifia:| STEgar: Josu: T TRIdeA:
FHAEI TEGHER  JHGTEdeT (i) huhl: 1/2
EECIREritE Lty (i) Teafaen 12
(i) wHEM 12
(iv) SAThTeTETOlt 172
(v) e 172
(vi) T 1/2
(vii) wfo= 12
(viii) s 12
(ix) e 12
) T 172
5
5. W g feaviaEg: | AR ged fod geen gosiu TRy egEE gsaeneRy
U STUfeaH| gidered sTggd Huifiaq
sEEgEsh ety B WIS 1+1
CIERS IR I E2ISR SR L EES CIREIRNE G 1+1
ERIUERSEY e st 1+1
EATEIE IR IGEIC2E 1+1
Th: 3Tg: Sy, 1+1

Teh: F AN 10

205




R

PR 3i®h
YSAHRAM SATHAA * ¥Meh—STIUrA-aviy| 3 fawae sifersprca Jeaamernt erarent
gfcemer g sd MuRaq Th: 37g: Ysaahd Th: o YSHIARTE
CeCIErCC I Coiet L EEIECHE S 1+1
EIERICEIS Teh - SATIUTEA 1+1
RALCE o 3 foer 1+1
AR SR 1+1
wfgeafd| 1+1
(TfeTerTH, Teh:

T g : G- AL, Teh: 37g: o HIWIART)

10
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Iy WERd UITUAH |

gug : T
( STIIIFTATRTIT )
AT WUS IR SAEETNRTENT: Tuferd:

TS : 3T ERERECOLE sTofega—3Tafur FgHGA:  STR[AYM:
A LLal 3k
6. | TRy WYy STTTERTHS (i) s 1

qf-eead-  Remeemyfd- (i) dfsem 1
U meu af- (iii) A7 1
LU/ H U8R :
CIRCIPEICR
AT 3
7. TSRy THE- Ry (ONRIE: 1
qe faug: Terfga- fdh =
STHHEISHl U] (i) 9 wfa sfa 1
aaq sfd fogy (iii) T« 1
T&Il I HHET (iv) fafese=: 1
4
8. | IRY FI/ WeRfaIEl () fa+ Sepam 1
Al HAe3/9e0eh (i) Tfqeraer 1
AT IO el oATeRI— (i) dfedeay 1
HRHITER (v) ==t 1
[EESIRIERIRE (v) TufEeg |
5
9. Ry TSI~ AT (i) qen 12
TE-TART- R - (i) 1/2
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TH. PEE) 3k
e Ty 3fea- (i) drea 12
STIYANOT (iv) &a: 12
CICYRISELY (v) wd: 12
10.| araremd ey i)y Sem 1
HYATA- STUfeIdehy (i) A 1
- - ferame: (iii) s |
e Rerreeryfd:
11.| wfeat Y () HUE WL 1
el HurEiden: (i) wrefTwEEA 1
T w3 - (i) =wEEA 1
qg-oied T (iv) TEHgRE 1
T
12.| wEAEh- A M () =ER: 1/2
TC-JIM- SR Eehd- (i) weHw@fd: 12
e T2 - (i) T 12
qfd: (iv) Teh: 12
2
13. STREEEET ferfeErdy ()  A¥ed 1
s-Tfag-a=a 9y (i)  ST9vEq 1
foramg M- @rfga-1_y swIfs (i) ST 1
ey ENIEEE (v)  STEM: 1
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AT WUT WE YA UTSHAUEARY HINTIaETERIuT STTiT: |

ST AT YU |
gus: ‘a’

(ufsa-srasrey )

IS : EEepL YIT-Teh: a7ufara-safor SIS A faamT:
UE. AR 3
14.|(31) dfodmeme- | SAfders (i) sriafea- 12
THIA STH TS
SR (i) TEEEHEA- 1/2
EEIIEY 1
|| gofemeRH () 3 &R-
IIH [RESEELIRE
HE- TR
T | 1
(i) OMIE: A
gl STeaeaHH-
IR TreReeeny
ERENICIREIENIT]
eSS F S
oafal o= Tt
g JUY 1
Sfgeellel: HHfcer:| 2
aifteh-awa- Il (i) feaemor- (i) STIeIHH: 12
FART-T &0 EESCREL]
(i) TatFe=i- (i) e 1/2
TR
(iii) HJIR- (i) w: 1/2
ERRES
(iv) fowlaeerde- (v) Je= 1/2
EREE 2
5
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UE. AR 3
(1) ufeduens- | SAfdersET: () TR 1/2
AU THTRA (i) W 1/2
1
|| qofeTeRr EIERCADEE N
I YA 3ThTaR:
= W A
IR 2
2
aif-aa- |l () oari- () dfepEd 12
TAM-TH0 IeREd
(i) foqdamefm- i) W 1/2
EECRELY
(iii) forTeTUg- (i) W= 1/2
=TI
(iv) foramag (v) TR 12
=TI
2
E
(3)afed-renel- | SAfdere: (i) HEEE 1/2
EICEEE LY THURT I, (i) SHSIEEH 1/2
1
I ot () T s,
I Hgfr =
qrifsieh
HeIfd| 1
(ii) -‘{LQS‘{"'IFOI{UH Hodtd Ul
ket ehfd: T
7 fafaen w=ew
= g GERid:
I 1
2
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LK RS 3t
Tifteh TEwAT-(i) HeHE™ () I sfd
T, T T SR
EREN 1/2
(ii) foriaefe (i) WIS 12
RERERRLS
(iii) Torereras- (i) ITEER 12
EREL]
(iv) =~ (v) = i
Tq 2
E
15.| 9Enedsy- (i) Yeay wendy () fad: 1
Tterur Reeamfd: (i) == 1
(i) <: 1
3
(i) Iy wErey () 9w 1
Reeamefd: (i) g@= 1
(i) geH 1
3
_6
16.| T (i) T 3T i)y =g 1/2
SITOEUH  volleh dfgen (i) WY 1/2
Reeamfd: (i) waq 1% |1/2
(i) oo eF=@ () g 1z
valreh afgen (i) eAfEsT 1% |12
Reeamafd: (i) 9@ 12
_3
17.| weAfmio- EECEREL| i) 1
PV Tl eI (i) = 1
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LK LA
E e (iii) <
AT (iv) <k
4
3T : YU - FeTHehd
HYlg: o TRAaTaR gaEd
18.| TehYUlEeATRA- YR V, IV, 1, VIl 15x8
ESRISEERA) EEEIEIL I, VI, 1, VI
SHAMRT 4
19.| TEGTIERH EEGE () oM
MEAREIEE [EETEE=F (i) farerufy
TRy (iii) ST
3
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Aty : EREEq
Time allowed : 3 hours

Trgifa aua : 3 "ue

Gug ‘' ¢ UG- STeEIETH/ A SAIY SeEIE

SectionA: Unseen Reading Comprehension

Que ‘@' ; TAHS -/ TS hd
Section B : Writing Skills

@ue ‘T’ ; FATIYRI- AT LOTH/ ST STh U]

Section C : Applied Grammar

Tue ‘g’ ; gfed- ey afed- ey
Section D : Reading Comprehension
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quTigT: 100

Maximum Marks: 100

3TféreRan 31k 100

15 AI:

20 AF:

30 AKT:

35 A



Instructions:

L.

AN 9e9s =@ @oel: 9=l
TH Y9 ¥ WX @UE 2
The question paper has four sections.

Jich @USH 3TTHEHe ST TehieHq T SHHTT @]
Jeh W@US o ST Ueh Bl SE W oA ¥ foes Bl
The answers to each section must be written at one place.

iTEUeH ST Gerep YT STl @]
U @UE o IW YU & T Sy | & faed T

The answers have to be written in a separate answer sheet.

U9TS SAUMT 7 AGH AT

g9 W S 7 fo|
Don’t write answers in the question paper.

TITHEA ARTHAITHRA SerprCRctenipil

JeIIS oh ST{IR WIAHEA 3Tavd g faeH g
Please write the question no. according to the question paper.

AT YA I HEhoA T@H |

[t I¥l o S| G&ha § fafau)

Answer all the questions in Sanskrit.
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©ug : o Section A 15 3TgT:

AUfSAIIT-ATqaTeq Y ( AUfGATIT-TTEE )
Unseen Reading Comprehension
TH. PEE)
1. | rENfalEd-TIssegd Ufedm YEauyar Yk -Taram STYRaehraT ST -

Fefafad I 3ol ol 9@ XU T U9l oF I gefeh a T8 Iagfaenl |
fafe

Read the following two passages and answer the questions in the given answer
sheet.

T SATe0a:

She O fastaaeran: gem weaie) fafr=iday derer =gAfue wafa ) dor
SR : F FAMY 9 Hafd TaHa a1, AHaH, feh=aon, ggqafaon =1 qromTfe:
Hifadr i gafid: g S wifed: vl wafd s1d: amvan: 99| Sevadd
TeIoi: TR e yady aiaers st Teafd Iodd Sidd aq wmeel Waed )
A q @fagal

QAT

ThUSA Yox2
T 3 § S gifsw
Answer in one word only.

(i) HEAT: HIA: FATIHA TWU(:?

(ii) fosrasmn: gum |aE w2

quiareRF 3TRA 1x2
Tof areR H I Y

Answer in complete sentence.

(i) oReT oIt : i S1f?

(ii) for Torda wfyay?

TdomTary 3a Yox4

fee1 o 78R S| fad
Do as directed

(i) ‘e e’ sfeR=e sT=eR o 18 wgFm?

(ii) ‘ doTe STeThI: g Y A Jafa' e ol ‘ wafa’ 3fa feparres dug frq?
(iii) ' germ " | eA: femior fohe?

(iv) * stefifian’ fa ueea foodianedss ugq stf=serd fomn foreq
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g 34'1@":'{:

weran: feafr eifafafesnfor swaf< gen-gen whensra: wiq stifa qen-qda
DO ge2Ta: Tefd| et Waen: SR Jausl T | i 7 fasa smafa
7 9 Td URfag e, 9Yesty SRepueRul YAl haltaq sieReq o

AT FAIId e SR Afedsh: 9<d qegad: T Ydiad| 7 ohad
BT, AU qur SATHHIERAHEY 9 Targelt vd wafd, i I S 391 Hai
U Y T qfoded A pei-d, shafr saradr: fasf<a ge argassd gfgwn
e Tk UG 1 YR =it spefeal o Geen weaHeEn ademef i
3Td: TE: Tol B: Tawe HIOTH, T80 o THLNTAN Gordl: ool ey Fed qhell:
et

YT -

THUSH WA Yox4)
T & 3% H IW fad|
Answer in one word only.

(i) : Fe TG T ?
(ii) BEI: T YART: TIYRT Fadrad ?

(i) ¥ TRER Fpafa 7 e & wi=?

(iv) gterran: fearf swigenf waf<?

Qpialaﬁlﬁ STd 2x2
qof areR ¥ IW ford
Answer in a complete sentence.

(i) ITAN: BEN: U YR @ 6 6 Fef<?
(ii) iRl (WamerTer) fob for wafa?

'ﬂ'ﬂ'lﬁ'a"ﬂ"{ 3d ox4
fee1 o 78R S| fad

Do as directed

(i) ‘smnfa’ sfa foramiee Sgusy eTg=san fawn faad

(ii) ‘7o ST HEREM o (quH 3fa WeAmug ohv: TekH?
(iii)) e g’ et fawrerus foe?

(iv)‘d’' =fd wee faudiareies u_y sT{=serq fawen faweal
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I

3T AT & qf=d vfteh forem|
9 3T=9% ol YghY HHfHA viive fad|

Give a suitable title to the paragraph.
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Qus: 9

Section B 20 3ITgT:

ToATS SR

ToATHS hd
Writing Skill
. Uy
3. | UF oE Ty

Jord: AW HeH: DA o qoH S| STel-STAR-Tereeie Sifererasrd Ty
Tesfal umgwoned faak ufa fafed oo T g4 Sfadwss: e Swyfasar 3t
fere|

AT TH FeH € IR 7Y S ¥ wd ¥ e A & fAu ow-Ten #
TEST 1 3@ & fou 1 =red €1 oF 95H & fau fra 1 o o frefafed o
& HyEn ¥ fRu MU 3fua Rl % N Ui 99 i YA Swgias ¥ fafau)

You are Saksham and stay in a hostel. You want to visit Ajanta Allora in an educational
trip. Fill in the blanks in the following letter written to your father for sending money.

Select appropriate words from the given box.

5
22, J\“I"II%I"L BIEIEIESK
1

22.9.2006

I YU |
afe ————- 3-mmm TG HE SITRT TS TG M T - -4 ~INAIA

AV | ARFA---5---318 & 7 SNHANH, Id; o ThHe:-—--6-——-Ye:
Hd:| T TS TARFEH 3™ ST AR | Aeaned-———7- - - —FHehI0]

HIET - ———9———-
= H&H:|
I=1e, Traanty, g, . TS
Sifererarmn:, deer, 330 3TRH
difefehrdld:, Iashel, | | —————- 10-————

ST, SRson, fugEeTem:
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HargeraTy,
TSI U T FIHE Il ShiUTehTT: HaTaT gfaen ga: foaa 1x5
ToqWl | < T8 ufeddl kit wear § fefafad Her § wfuren o koMl Tl Wt

Herg, 44 fafed

Complete the dialogues of KANIKA with the help of sentences given in the box and
re-write the same in your answer-sheet.

EJLED

EaET
EAICEq

Al : SKfcen! ST J UHERRT:| Ud: Td &d: Aang? feaedf 8 fagm
T HAU?

HfUTeh! 318 q U ShIGMYHuTE ISH ST qd: Td S|
(i)
T YDA T URON q Fao SHfEdl STRId Td Weedad
Yd: YHUR STeER: Ured|

(ii)
A YHUH TegargHed 9 IR 79: 9 WY ¥od:| 9[: dal q STHad
il

(iii)
Id: I RIel: a1 STHaHA: Yafd 31d: id:eel STada il
(iv)

3 : WH: o9: I UId: WHUM q S : SAE: hivd: T WaeHol
FHAN: SHI: HMT FgTeaed Ag9ar-il

(v)
TN9FH ¥: A HE T Uid: JHU =fersam:|

(i) 9d: 9HUET T h: °W:?

(i) R GId: YHUH TEEIATE hedd?

(i) @ g EE A A I | ¥4 IR STeHT Ud: YHOmd e

(v) Toeuef e gaonef Tesfa? foareafey g o Sfasm: @l sEE g
318 Fg=sl =1 UM

() ferme T swdeen i

HesTT
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I

AY: I TOAH, YA TSl YS9 -FE&Aqd] TSIaTarITt ST yRaentare
foraa

I o T o W a9 A Seehd 9 H fatau) 2x5

Describe the following picture in five sentences with the help of words given in the
box.

SUIE, 2Aftehi, STFERH, shigeh:, T, ST T, IRy, wefd, STaf<e,

LI

10
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‘qfEnr we a3 fawe ifirred Geshde Tesarent forad| GemeEar Hesun S|

‘qfEnr we y9um’ 39 fava o Sed o ure o fafen) gerar & fau e & w2

Write five sentences in Sanskrit on ‘ 9RaR ¥ 999’ you can take help from the words given in the
box.

AT
7Y a1, Ard1, AR, 9 TR G- A9, ST, e HIS,

oo

fafeicen @ MaH, TdTH, 3T<_YSH TSR
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gug : ‘MW Section C 30 1gT:

STTUH - AThITTH
STAAGkd AThITT
Applied Grammar

R

LLs]

refafam@Tihauay wi-faess /Al Far g7 quiare foaq 1x3
e fore et ® t@rtea wal H afafasseaiy wweh g 1 fafae
Disjoin/Join sandhi's in the underlined words and rewrite the sentence.

(i) vt fe gfte: + Tm

(i) TrE=sEn: W< 9adm|

(iii) TUERTd. SET: O S|

TENfANGAY, AT I@Thaua™i TaUE / HHIE a1 el SUNYRAehIa for@d 1x4

I for@ Rl § TeneRusl | faue/amE ek Swgfast | fafay

Join/Disjoin compounds in underline typed words in the following sentences and
rewrite it 1x4

() qM: TEE: THY 99 Skl
(ii) TITA hhRE g hifchal: 31U Tootd |

(iii)) TEHS: F&: ST M|

(iv) fof 2a? eTeRreid]

TETARGAY, AR, hIBRT=IAT TS Yeptaued fau=a,/dg-a fafaa 1x5
e forg T SRl § hied oF ST Y&l oF Yehfauerd fausH/Aar ¥ fer ' fafau)

Rewrite the following words by Joining/disjoining suffixes to the roots/words.

(i) SgFEm (FHtSes) w1
(i) (SRt + 377) foder: el

(iii)) fogre: wa (FaH=a:) Wehifadn:|

(iv) Fh: T9E: TR (8] + IR
(v) 378N (3T + qAq + Q) T T
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LLs]

10.

11.

reifafad o = Sftoa-sremmus: Remeemrty giaer u: foema 15
(ST = 314 Y_)

frfafed T =ss | 3fua o= w&i ¥ Raaeem &1 gfd sees ga: fafau
(et i g A S TR R)

Rewrite the following sentences after filling in the blanks with suitable indeclinables.
(List of words are given below)

Ay

o THY HHI SIS (V)rrrrreceree, Exuiplf

T afy, =, @, fg:,

areifefad Gareq arenTary sfadud: wiaer g foea

Fill in the blanks in the following dialogue and write the answers in the answer sheet
only:

Torenctera oruee weET: WU 29| shidares Tk wfewfa sfa e forge 1x4

Indicate the time for examination as shown on School's Notice Board in Sanskrit
Words.
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LK Ug

WA: 9.45 BT ()i TieTeh SUTeer: Hfosaf<|
s 10.00 (i) ThensRel gfafte: Syfadet faawor =1
s 10.15 (i) erererreeennn e geTe-faawur wfasfal
A 10.30  (IV)eerrerereennes e TR AfasAfa ard-Tewares 9 wEr gfasfal

12.| 2TEliEY TRy AT T WhaUEATTHeh a9NuT Jiad ox4
Ffafed ol o 3Tgl o TF W d&hd o deEmEs faumn fafag
Write numerical Sanskrit adjectives in place of figures in the following sentences.
T e FHU (3 )i TOTTET: G T (1) errvrrienrienrnennenn. LRLEIRRIRGI
SIS STHad) TR, ST (30).cveerreveereenne. ELE P 7 N
STeThl: = ¥ TEIde:|

13.| rElfafEaareaT G9Nes fel ara™ Uq: foaa 1x4

fFAfafad el 1 99eE &ich arel ol q9: fafay

Correct the following sentences and re-write them in the answer sheet.

7Y faemerd Fearu-ffots SRSy Sd: 0 1 9%hdT T8 TR T SThH|
T HeA: o dIfiehl: a5 SToS| STEHmeh fafen: ofdid aran: STEql
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Qug : ¥

(Section D) 35 3Tz
ufsd-3raateg (ufed raate )
Reading Comprehension

TH. a9

14, oTeNfeAfEd TNy, U=nyl, AV o Ufoal YEAUYAHN ST ST RehT=
foraa
freafafed Teier, w=Iier e A i dgewl ¥ M gl & IW STyt |
ferfEe
Read the following prose, poetry and drama passages and answer the given
guestions in the answer sheet.

h. | RN

Ut wd foemafa afa 7@ seeiied wiferg <anfuafa vk : TREaess 9 aRibE
T : STERA-T UM o JAARAT STRvd SRMf-od: =y SARTasi| <@
U-wfr-aRmueayfid SFTd Tad hefHe Teeee Feggi:| TS Jara—Hier! HaHRel
R STHFY TR hqH SeaiH| enfeyaar, f& swwenfur? fou: sam=-aft vyam
Hid:, T d: ThEd FYgu: IEH 3oSIH 49 79 kA Hafer wodq) adq gon st
e, <ok FI&IRH gehHa | TTH 5391 T $95 o1 ATEh: SRl URd: S|
s1qan qaq M| o sg famae'! sfa foamd aen st - o firsn e =,
318 Yod JggaHa gresiy sl U9 95 e frv=d Fren sren: fawoom: e
3TEE - WENIS! ST Udadl TEEeH, g o9a eam|

I

ThUSA Yox2
T 3 § S gifsw
Answer in one word.

| <reh fohe goehee?

I. ¥Teh: & HARAM Feoll ATTd:?

uieTeR 3| 1x2
o 9 ° IW A

Answer in a complete sentence.

| 1k fohmef RIS T STHE?
I. a7 formel forsoom: sive?
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Trdemany sl

e o AR S| S

Do as directed .

(i) ‘79 e Fefen 9o’ o ‘wa’ gEaH U8 e gge?

(i) ‘ geon' sfad IS EE-ug e o foaea

(iii) ST 3fd w_r v e e faen foedl
(iv) ' oo’ 3fq veer faudaredas o g fawen foreml
TEIT9T:

ST HEEmEl! WAl 3R = e

R i<, A0 = TR

ThUST Il

T 35 H I i)
Answer in one word.

(i) TF: 1AM TRIA?

(ii) ‘weTeTen’ sfa wufaen &: FrEreTa?
quiareRe ITA|
quiare | IW S
Answer in a complete sentence.

(i) #9: higem fE?

(i) TF: Y TR I ?

Trdemany sl

e o AR S| S

Do as directed.

(i) ‘T SRRt wfcaq sfa ot FumRe foh o8 wenel Jgem?

(i) ‘e’ 3fa foramee fF wdusq?
(i) ST 3fq e faiareies Ug foen feral

ox4

15o%x2

1x2

Lox4
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LLs]

(3

(iv) 7" 3fd o5 g fRafa favmomg feamn foeal

o
-
-

~

ek (Ufaed, Woptam) o1: fhe Saded wadt? afg 318 Hoorant: afe e i

hIGIT:? HTeTgRaed aui; Shigel:? e 378 J 3T Haeaqqaul:| JHId ‘1 &1’ L1

e ety ey = faftarsmta

TSR H: g fhem? Taq ®F g Fagpelsiu &fdl

Tk : (fogea) parcpe:| 3R 3T Fd: Fapel: TRY| 3TBHT T FAH:|

S 9: ofi: off e Wid: w2 Fafn: SR o= g feafy |
CRUE]

FTh IR T wEe:| R T e ft freren swerdty, ST

oo ArHEehd Heoll (=l foh agHNl 18H { Ae: Foayd: Iq Aat: e
et — ' 3TId R <Iq ieh: IR’ TR TR T ST IGH| AN SIEehISTH
BEUM Fd AR T fF T gd FhA=l, THAF.............

RSEESH

YIAT:

THUST IA

form form gat aq : gas1 Mod 99 faoa

Hh M IS HleaTd,

HITUTeR IfE <oyl
Tehehuel Tferd HofT,
ety Srep! 7 g Toea:||

15o%x2

T & 3R H IW fafan
Answer in one word only.

(i) HuH TR SIfsH?

(i) TR Tsedl T wufaan gwrafa?

JuiaTeRs 3a3d

1x2

qui 9 | IW fad
Answer the following in one sentence.
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15.

16.

(i) =T e fh weaf<?

(ii) TR 99 T wAfA?

Frorrgare SeE Yoxd
e & 3gER S fod

Do as directed.

(i) ‘wefa: waford:’ sfa smat: aeat: fo o< faemomey?

(i) SH: Teler Tiad qa T’ o ‘qd’ 3fa g e g2

(iii) ' TR Tl ok foh womIeieh U8 ggeH?

(iv) ' 3fean: waf<' sfd 9s= faudaeiess 9 HamRq faen foeml
reNfeafaauerge werdy Sugeaue: qiaer u=: foma 3+3
frAfafaa < o= o aErel w1 SUgEd WISl W I fafau

Complete the explanations of the following two stanzas and re-write them in the
answer sheet:

e ged 99, A TSl

2T Y Al "I shadl qRaad|

rare;

I TR T3 YA T |
HHI: GIRYT YSi=ag, T I Hersfdl |

rare;

SRR TH 376 "9y ey Y& A HOiaH| Fd@ & A< 387 (1) TLHTE]
S I toe G U (1) IS EHEN LIS (1) NE— T Afafdl T auiae

Stere STHRaH ST |
refeafEauerge sradt Qier ua: foma 1%+1%
frefafad 3 7= & sl 1 QU Fek g fafay
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LLs]

17.

18.

Complete and re-write the prose order renderings of the following two stanzas:

JMET RMETFHAISTEAT IS |
gl FARISTAeh A=ty afAfy foramq

3T
EUCCA () I AT TGN IRET (i), e~ TS| Hagl Wi=eH
(1) EICENERIG]

stachal a1 T qen arte wag A<
deallg: HETCHI: FHHI qeId: |

3T

JT TRl Fad AT (i) aIfe Folq, HTHM : QA (i) ovooeceneenes A
(1) P 3g: |

TETfgauar oty wya-fivt sea 1x4
TEfgd =i o SR W g3 fmior swifeg

Frame questions based on the underlines words.

(i) YT TRRT: HEYLH SHUEAYRY] TIeIf|

(i) STETOT: 3T: I SEifon|

(iii}) T FAEATSTS 38|

(iv) forsa: stremq e SArew |

TEATSHATTARY STeifef@qanaan qa: SFHuT foaa 15%8
TeATShH o ITIER f=fafed aet &l g49: e § fafag

Re-write the following sentences in the sequential order.

(i) ToERH HUHEH Hed T ST, SUR: Hie:|

(i) TR SAEAArTHYY Th: fSgeiqd: HY: Herd yfaerd|

(iif) ST, STTST &0 T Tsfoerd Wefara)

(iv) guapit: f7ed ifed o geean arged: IR TS IegE . ST
(v) THE=E O A e et @)

(vi) STeefifar: srefy: qesHdeen: 3fa fa=md woa: gveraraq stepe)
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19.

(vii) ART: TEARARAIET d TR T TS

(vii) Gueh: SrefoaferaenTsaa difed: A: svaenen wfaer

M 3te: WE Ao Tohaam
W 1 31 F WY AT hITST

Match the following meaning with the words :

gug: ‘31’ gus: ‘9’
()  foriae (F) T&rmay
(i)  STaRon (@)
(iii)  forefr (M) R
(v) o (¢) W=
V) AT (5) fame
(vi)  ¥mRIgH (7) A

15x6
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snagiHERaugTa ||

EZUER]
aafy : gREE,

@US : & - IUfSA-STTETTH
AT @Ue rT=sagay 31f (5+10)

EI—W:H’@@'&:SOW‘&W:(S)

HISHEST 122
quligT: 100

IS : EEepL YIT-Teh: arufara—safor SIS A faamT:
UE. AR 3k
| LEREICE FAfceTer: (i) @ 12

BRIk iy THTRA ITH (i) °Fq 1/2
|
| LEZEICE T (i) AT, HEE,
Tiierur EUEIESE] o=, apafaron
IIH CIRCINNIERE
Hifhan 1R |
(i) AU TS W
T g wfera
3fd ¥ shforaq |
(o7 ofh: [ga- 2
T 37 ofeh:
= Eed )
[l aiftehaa- (i) TEETES- (i)  eToiin 1/2
& EEERELN
(i) FHYIE=ITH (i) TeTIRIT: 1/2
(iii) fergroT (iii) g 12
T Tk
STIIEH
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(iv) [ERRGIEERES (v) e

fgd: eTT=8]: 80-100 IegURfHd:

|UI| \S]

(10)

1/2

EEepL ERERECOLE STqfard-3aafoT g A:

LEZEICE FAfAeTe:
e THTH

LEZEICE foregara.
e (qutaTeRA)

(i) wfcsh:
(i) odem

(iif) e
(iv) eHafafesfor

(i) ST BEM:

U YREA

Tq ufeasd

ST e, He
e fasef,
e greshH afc
e Wk U
TR A

g =1 =l

(i) stferepet =1 e
Afd, 9 9 g<d
¥RRIG ¥R, gasta
= HRIGIRRT A

ST Teh: 375 YGALATI Th: 375 &

NrerEical

ATfereh-dwa-  SAfders@T:
FART-TH &0

(i) FgIE=aTq (i) TdeehTa:
(i) TR (i) BEE:

1+1

1+1

|-J>|

1/2

1/2

1/2

172

1/2

1/2
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TA-TAMT:
(iii) IENELCECREL]

~

(iv) ERNGIPERCCREL

TiHRYSHH  SAfderer:

(i) odreT
(v) =

TeTTehTel
THERTe B

aqrd: q&IMYrER=/

Bl IR
AT 3G

fepfoud TEgTIAR

Sfeasfrien

|_‘|
[e) o

1/2

1/2
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AT |

@ug : ‘W' - (OATEeheETy

A ITHERATTTUTH ||

5+5+10=20

SR @ve F4: e 9f=l g g fafead 93 s faen fafa=ieasamm gfd sen 7o 31 :

SRRt et | FfagsiRedearyfied o1 a1g: fuifa:)

ERIER ELARLY ERERCATE Tafard-Safon AgHGd:  SFARAYM:
TH. sl 3k
3. | e AT T
Areifkad- o Uftd 9= 1. Fiferehrara Ys
TREI |
THEIYTIRH, 2. fagqaetamm Y
TAITR 9. Torga Y
EEEIEEE
g |
TAESHd I3 10. ISTRA Y 2
EER GG
WM Y
RESICE| RIS 3. fraatd s
forrgereg- [ELREESERE: 1 4. TGN Vs
CIBENE (Taaeamyfd:) 5. IREISREI Y
6. ifereHarsran: Ya
7. HeuRIH s
8. S s 3
2
4. | A g9 yeaHdrR Hewiehen Reqearyfd: srufedn o= wsafaasami wf<
gfeaRae e yftied Tan: 31g: Muiia: STEgd: dssum: @ U= -
4 fFFR%FETﬁ:
RECEEaE (i) Tormef raecema womef
ARIGARTI &0 Testa? faemeafey 1
q wd: Sfaem: @
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(ii)

(iii)

(iv)

)

3 q o8 gl s
HAMA
HY YAYHAT THRIATTT
HETd?

fepweie T atHderen
HiUdr?

TAYHIRET T

h: AI9:?

@A g 7Y A A
IHIfeTd| 39 3RS
3T WA
TfHetH|

5

T T Fesrerviarag: | ST e sl Sa Hosure YRRy bR qsadrey

Ui 3Taferan| gfdareRm sTggd Huifan)
EIE IR SRR
EES CIGERICHE

Tacen st
HA

(T are,

ey Teh:

3Tg: qeAT,

Teh: 3Hg: HMMI-
T

5x2

10
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Yedehdr s ‘afarr w8 g’ 3fd fawd geu-areerET sTufaan)
STEEgEsh  AeRIHIO B YA -
EIERIICEI SIHRERCIERIIE
ERILEE Y it
(TodaTeRIT GideeRH Teh:
g : qee,
Th: 35
RIEIERITIE

5x2
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RCLUCHBRI |

AR WUS AU ARG YA STUfard:

S EEepL YIT-Teh: arufara—safor SIS A faamT:
UE. AR 3Tk
6. Ry Ay SAYANS®: (i)  gftedw 1

qfre=sg Reqeamgfd- (i) frase: 1
TReor oede wfy- (i) TR+ 1
CTUL SRS LS
a1 AT :
SR 3
7. AR TH - TR (i) SITEH 1
EHEIREDES tEfga- (i) oheRT: W 1
STHHEIEHT e (i) SRt 1
e 3fd faugy I | (4:)
Tl T HHEY (iv) ¥ HEH 1
4
8. | TR I/ egfawcdE () TENHSE 1
GIEGERRIE TASA/9UE (i) ShIfeM: 1
JIM-UOEOH el aR- (ji) STy 1
RN (iv) Yeroftar: 1
Reqeamgfd:  (v) seee 1
5
9. qHEY T~ AT (i @& 1
TE-TAM- R Re- (i) o= 1
Tirerur Ay Sfea- (i) afe: 1
STIYANOT (iv) 1
CICYRISELY () e 1
5
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UE. RS 3
10.| HaR ar=A-wEn  Reaeemy (i) sfTereTa 1
e STUfEdeR - (i) =it 1
FA-fFamR: (i) TR 1
[EESIRIERIRE
=
11.| feswt g SRy (i) ORHEIER 1
e THEdeh: ORRSIEES 1
- w3 - (i) FUEETERE |
e T : (iv) SreiRRTEE L
4
12.| HEAENEH- IGH TWH (i) T 12
EESRILE IR AERd- (i) TeRT 12
e w3 Reqem- (i) e 1/2
T (iv) TeErEERerg 1/2
2
13. STREEEET ferferdy (i) SiEq 1
Ys-Tag-a=" =Ry (i) ==| 1
foren o8 WAM-  @Eifga-1_y (i) 94t 1
Titerury ST - (iv) AR 1
4
30
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SR @ue 9d GeAl: ISAYEIRH (AR AN : 11) GNTUaEERIon STi: |

gus: ‘o’

(ufsa-arasieqy )

IS : EEepL YIT-Teh: arufara—safor SIS A faamT:
UE. AR 3
14.[(31) ufsamene-  SAfderse: (i) <HEY 1/2
AT THTRA A (i) TS 1/2
EUEIESE] () Treh: TH:
IIH TAefteral gdiferg
EEHERIECTS iRt 1
STIRAQ
(i) TH: RS
fre=rg e
ST foreuoT: 1
S|
aTftreh - aa- aTEIHEA (i) SRRy 12
qY-THOH RS GELERELIR)!
ERIRECCEE = G () I g 12
ooy (i) owiaRTTea-
/A, 1/2
foqdiareierae. (v) IR 12
I
RICGERINS STfaeTs () STHRFATm 1/2
CIBENE THIRA (i) 3TS: 1/2
EUEIESE] () w: 3HIRH 9
IIH = 3| 1
(i) TF: ST S 1
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UE. AR 3
1 F9iishg TR 2
Afehaa-aiy M- TG () 3Fmeq 12
& RGeSt S (1) B e 1/2
ERRGREEREL (i) o 1/2
IENELCECREL] (v) SRR/ 12
2
N
EICHEICRINE | STfdeTe: (i)  RTRME 172
CIBENE THURA STH iy 7= 1/2
1
| ST ()  #= RRE
(qufameR 3TY) Hefa-* 4
IR =q T 1
Wl“
(i)  wER: 99 1
‘-1’ eaf
Y yar&afd
HHg = fafEsafd
2
Afthaeey () foRmooe=Em () we: 1/2
Tterur (i) TeAHEAH (i)  HTRE 12
.
(i) SHEIR-UE- (i) T 172
=TI
(v) foodaes-u3- (v) w=fa 12
DR 2
=
15.| wmenefaty- () TSy wEeney (i) = 1
Tterur Rerreeryfd: iy  HA=E™ 1
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LA &
(i) = 1
3
(i) F0g WY () T 1
Reeamfd: (i) = 1
(i) TS 1
3
BN (i) T= T (i) STEASERA 12
volteh afgen (i) STy 172
Reqearmgfd: (i) &q 1/2
(ii) U= 3= i) 3R 1/2
ST Yolleh gfgen (i) d=d 1/2
Reeamafd: (i) sfa 172
AT EEGEREL i) =9 3|1
HITTA-TIFOE  TTI=IA (i) wfa 1
MY (i) 1
AT (iv) SHEAT 1
3T : IR - FeTHehd 4
g : & YeTaTahaedhd
qehqulsIeATehA-  Ugd- \VAIR\AYI 15%8
ESRISEERA) EEEIEIL VIIL L, 1, VI
ExiECIu 4
HICACE I o Gl O (i) T 1/2
ierur g 3fed dermm. (i) fowseR: 1/2
(iii) =TeAfd 1/2
(v) T 12
(v) @ 12
(vi) T HYH 1/2
3
E
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